V3-2
D 3+2V3 @)-3-2v3
@ 3-2v3 ® 3+ V3

® -3+2v3

V3-2  (VB-2)(V3+2)
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12(3V10- V2) - V2(8V5-1) =aV2+ b5 V10 € W, a+b ] gH2?
(H, a, b= FE50ltt)

® -11 @ -5 ® 10 @17 ® 23

12(3V10 - v2) - v2(8vV5-1)
=36V10-12V2-8V10+ V2 = —-11 V2 + 28 V10
L a=-11,b=28>a+b=-11+28=17
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® 4V3+2 @ 4V3+1 ® 43

@ 4v3-1 ®)4V3 -2

4V3 = V48 ,6 < VA8 < 7 0|22

43 o) A= HEL 6,

24 HEO 1 —43-6
—4<-V12<-39°]11<5-+V12<20°]2&
5-2V3 9 AL HESh=1
La+4b=4vY3-6+4=4+3-2




